
Subject: RENEGADE FULL OF CHEATERS
Posted by ghostSWT on Sat, 12 Feb 2005 23:08:13 GMT
View Forum Message <> Reply to Message

XeonTeam
Start Number..     5678
Answer =	E26
????
  
is this Decimal to Hexadecimal conversion?
well you got it 100% right except for a lil part
5678=162e

Start Number.. 5678 
5678 / 16 = 354.875 = 354 
354 * 16 = 5664 
5678 - 5664 = 14 = E <<last digit

New Start Number.. 354 
354 / 16 = 22.125 = 22 
22 * 16 = 352 
354 - 352 = 2 = 2 <<2nd to last digit

New Start Number.. 22 
22 / 16 = 1.375 = 1 <<new number is less then 16 so it's the 1st number
1 * 16 = 16 
22 - 16 = 6 = 6 <<3rd to last digit
162E 

first learn something b4 you show of your INCORRECT skills, lol 
    WANNABE, YOU GOT OWNED  

Quote:do any of you know ASM, VB, C++, binaary, hex, decimal???  yes I know them all. But i
think that knowing "binaary, hex, decimal"  is almost pointles because ther are 100000 or difecent
converters that you can use. No need to spend 3 mins trying to find that 10010001 11001001
01010101 is in hex just copy and pasete (10 secs)
 and you get 91 c9 55.

Page 1 of 1 ---- Generated from Command and Conquer: Renegade Official Forums

http://renegadeforums.com/index.php?t=usrinfo&id=1893
http://renegadeforums.com/index.php?t=rview&th=13739&goto=137873#msg_137873
http://renegadeforums.com/index.php?t=post&reply_to=137873
http://renegadeforums.com/index.php

